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(A) Choose. the correct 0ptlon for the follgy;,
~questions : lxg\s

1. Acid Test ratio is also known as
@ Curréqt ratio

(b) Liquid ratio

(c) Absolute liquid ratio

(d) None of the above
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2. Debt to Equity Ratio is used to analyze the

(@ Liquidity of the firm

3 (b) Long-term solvency of the firm
(c) Profitability of the firm

(d) None of the above

.. Which of the following are the component of the
financial statement ? ‘

(a) Cash Flow Statement
(b) Balailce Sheet

(c) Profit & Loss A/c
@ Al of the Above

Which of the following is mot an example of

current liability ?

(2) Bank Overdraft
(b) Outstanding Salary
(©) Prepaid Expenses

(d) None of the above
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5.

In trend analysis the year which is used for the
calculation of trend Percentage of other years are
known as

(a) Initial year (b) Current year
(c) Previous year (d) Base Year
Which of the following equation is true ?

(a) Asset + Expenses = Capital + Liability +
Revenue

(b) Asset + Revenue = Capital + Liability +
Expenses

(c) Liability + Expenses = Capital + Assets +
Revenue '

(d) Asset + Liability = Capital

In indirect method of cash flow analysis to fing
out the cash flow from Operating activity, increase
in current asset is :
(a) Added to Net profit
(b) Deducted to Net profit
(c) Neither added nor deducted to Net prog
(d) None of the above |
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8. Fund flow statement is prepared on

(@) Accrual basis (b) Cash basis

(c) Both () & (b) (d) None of the above.

(B) Answer the following questions : 4x4=16

1. Explain the importance of common S
statement as a tool of financial statem
~_analysis.

ize
ent

2. What are the egsential qualities of a good

financial statement ?
. 5 - ‘?
3. What i annua] and interim financial report l
State some of the difference between annua
and interim financial report-
4, Write short on the following ?
i WA 25

(i) Current Ragig
(ii) Debtors Turnover Ratio.

(C) Answer the follOWing qlleStiOHS: 14x4=5 6

1. Explain the reason why do you thing that_ a
tnfel-{d analysis j5 useful for the financial
decision gpq plannihg of a firm? Prepare
g perCentage from the following

infOlTn’dtiOn of the ﬁnancial Statement of

ABC Ty, and apalyse whether there is anz
ProVement in the trends. 4+10=1

=g

Years Sales Cost of Sale |Other Expenses| Profit
Rs) R9) (Rs) ®s) |
2015 | 2,00,000 | 80,000 40,000 | 80,000
2016 | 2,20,000 88,000 60,000 | 72,000
2017 | 2,60,000 | 1,04,000 92,000 | 64,000
2018 | 3,20,000 | 1,28,000 1,44,000 | 48,000
2019 | 3,60,000 | 1,60,000 1,60,000 | 40,000.
2020 | 3,80,000 | 2,00,000 148,000 | 32,000
Or.

Prepare a common-size statement with the help of the
following information taken from the financig]
statement of ABC Ltd, and XYZ Ltd. Also analyse
the Profitability, short-term and long-term financja]
position and comment which firm is in the better

financial condition than other. 10+4=14
"__._—_-__‘——_
Particulars ABC Ltd XYZ Ltd
31-122019 | 31-12-2019
Rs) | . (Rg)
Net Sales 30,00,000 50,00,000.
Cost of sales . 13,00,000 25,00,00¢
\-‘_"—«
Gross profit 17,00,000 - 25,00,00¢
Total Expenses 10,00,000 20,00,00¢
Net Profit 7,00,000 5,00,000
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—Lm—————___—___r———ﬁ—fg— 2. What are the limitations of fund flow statement ?
8 -l ABCLud. | X el Explain how fund flow statement is different from
31-1222019 | 31-12-20 | a cash flow statement ? T+7=14
(RS.) _n____,_(izs__)—- : g " Or
Capital & Liabilities With e hetr) ‘afhth f il' e e -
Equit IS . : 000 ith the help o 1€ Tollowing miormation
( Igflty .o Cepialies 20,00,000 | 40,00 5 preparc a cash flow statement of the Boro Ltd.
| 10% Preference share Capital | 11,00,000 25,00,00 for the year ended 31-12-2021 in indirect method.
ta ' )
otal Shareholders func{ 38,00,000 | 4900577 | Balance Sheet
Long term loan from the pyny s{00igo0 ) o e
Current Liabilities Liabilities MM :
Sundry Creditors 6,00,000 10,00,000 Shareholders Fund - 1,40,000 | 1,60,000
Bills Payable 4,00,000 7,00,000 Profit & Loss A/C 14,000 17,000
Bank Overdraft 2,00,000 4,00,000 Long Term Loan : — | 20,000
Total Current Liabilitjeg 12,00,000 | 21,00,000 |  Sundry Creditors - 20,000 47,000
_‘—-_‘_-—‘——-_‘—.—‘__‘—M____‘——'—‘—— . o
G\’_\\_‘—_“——oﬁr Bills Payable 8,000 6,000
0 602,00, 0001 7 0,00,0001 88 . o Bavobsio 2,000 4,000
gty | 184,000 | 2,54,000
Land & Building 21,00,000 | 30,00,000 - W e
Plant & Machinery 10,00,000 __&@,_O_QQ_, Assets _11_‘13@2-0__3_1—'2:2921_
Tota] Fixed Assets 31,00,000 | 49,00,000 | | TLang gnd Buildings 70,000 1,13,000
Current Assets - : Plant and Machinery 30,000 28,000 .
Sundry pebtors 9,00,000 8,50,000 Debtorsg ‘ 8,000 24,000
Bills Receivable 800,000 | 650,000 | | pi Payable 2,000 Looo
zhort term investmentl 3,00,000 s, Stock 30,000 35,000
s 4,00,000 2% 00 Prepaid Expenses 4,000 6,000
Total Cyrrent assets | 3,50,008 40,000 27,00
| 2400000 | 21,00000 | Cash gt (0 DT
 55.00.000 70,00,000 1,84,000 2,54,000
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: I“°9me ‘Statement

" Total Current Assets

@)

| Cr
, - .
Particilars 1122021 Particutars 31-12-2021
To Opening StOCk 130,000 |By Sales 2,17,000
To P ' [ Cloi '
urchase - .~ [ 1,96,0pg By Closing Stock| 55,000
To Gross 46,00p | :
Profit ¢/d : :
— I
2,72 000-
) 2’72’000
To Salarj ' -
o Salaries 28,000, By Gross 46,000
To Rent 2,000 Profit b/q
To Depreciation | |
On Land‘&
Building 8,000
‘ To Taxes 4,000
‘| To Net Proft C/f 4,000 '
46,000 46,000
TOA Dyxdend 1,000 By Balance p/f . 14,000
©Balance o/f - | 17,000 |By Net Progye p/g| 4,000
18000 | | 12,000 |
| 18,000 18,000
150
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3. Explam the s1gmﬁcances of ratio-analysis as a
" tool of financial statement analysis. What are the
precautions  to be taken - while using Ratio

ana1y51s ? “T+7=14

Or |
The following information are taken from th e
Balance Sheet of Basumatary & Sons Ltd. For

" the year ended 31-3-2020: . . - 14

(a) Share Capital amount to Rs 5, 00 ,000
(b) Reserve and surpluses is Rs 1,00 ,000
(c) Working Capltal is Rs 1,00, 000

| (d) Current Ratio 2:1

(¢) Liquid Ratio 1:1

(f) Fixed Assets is’ 120 % of the Capltal-_"
" (2) Long term loan 10 Fixed Asset, 1.5 Rs 1.6

includes
Receivables and Cash Which are in the ratio of
4:3:1 . respectively. Total Current liabilitjeg

include creditors, Bills Payable and Bank -
overdraft which are in the ratio of 5:3.9

respectively. There aré no other items of assets

-and liabilities. You are required to compute the -

balance sheet: of Basumatary and Sons as on
31-12-2020.

[Turn over

inventory,

e



4. Explam the reason why we need to. analyse. the
financial statement of a firm. Explain some of

the inherent drawbacks of the financial statement

analy51s , o T+7=14
o Or |
What is Accounting Information System (AIS) ?

What are the components of Accounting

Information System (AIS) ? Explain some of the
benefits that a business firm can have due to the
use of Accounting Information System (AIS).

: . 2+6+6=14
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